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���. 1. 
�� �������� �� a =  8 (2 �� �!)            
�� �������� �� b =  3,148                                                                       (2 �� �!)  
�� �������� �� c =  6,3                                                                                   (2 �� �!)
�� 	
��������

  b < c < a                                                                      (1 �� ��)

���. 2. 
�) 

• ���
��                              (0,5 �� ��)
• CM � BP – ������� � ���������� �� ����� ����                                     (1 �� ��)
• ���������� S�ABC ���� S�CBP ; 
	�������� S�ABC  =  66 ��.��.                        (1 �� ��)
• �������� �� AB = 20 ��.       (1 �� ��)
• �������� P�ABC = 44 ��.        (0,5 �� ��)

�) 
• ��������� �� 
�������� � 
�
��
���, �� S�NCP = S�MPN = x � S �AMN = y         (0,5 �� ��)
• ���������� �� S ��MC = S �AMN +  S �MPN + S�NPC = 33 ��.��.   (1 �� ��)
• 

��� M – ����� �� AB  => S��MN = S� MPN +  S�MBP            (0,5 �� ��)
• �������� �� � = 22 ��.��., x  = 5,5 ��.��. �  S �MPN = 27,5 ��.��. (1 �� ��)

  
���. 3. 
 „�
���” 	���
��. 	������.                ��
���� ���
� = 4000 �� = 4 �                             b = 20 �� = 2 �
� = 200 �� = 2 � (1 �� ��)

 V 1  = a.a.c 
  V 1  = 4.4.2 = 32 ���.� (1 �� ��)                
                                                       V 2 = b.b.b 

V 2 = 2.2.2 = 8 ���.�                                    (1 �� ��) 
V 1 + V 2 = 32 + 8 = 40 ���.�                                                                                 (1 �� ��)
40 = �.�.� 1 � 1 - �
��
� ����
���� �� �
��
�                                                (1 �� ��)
40 = 4.4.� 1

� 1  = 2,5 �                                                                                                      (1 �� ��)
� 1  - � = 2,5 – 2 = 0,5 �                                                                                       (1 �� ��)                    
���
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�� �,����#$ �(.� �# ����!(�� * #$!"!, '��* !�! )!$!)*)  16 �� �!.
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�MC = S  S C ��AMNMN +  S+ SN

����� ���� AB  => S AB  => �S
� �� = 22 = 2 ����..��� ., x
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